1.

(x+3y)* - 4> = d2ofota?

D (x-5y)(x-y) @ (x+2y)(x-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@) (x+59)(x +9)

B

(x+3y)% -4 = (x+ 3y)* - (2)?°|2=
x+3y=A, 2y =Bz olH
A?-B>=(A+B)(A-B)

= (x+ 3y + 2y)(x+ 3y —2y)

= (x+5y)(x +)




(2x+1)2 = (x=2)? = Bx+a)(x+b) D W, a+3b9] & F3HH?

® 4 @ 6 @1  @s ® 9

B ,

2x+1=A4, x—2=B= X3}4A
(2x+1)% = (x - 2)?
=A?2-B>=(A+B)(A-B)
=2x+14+x-2)(2x+1-x+2)
— (Bx-1)(x+3)
La=-1,b=3
La+3b=-1+9=28
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rot

(2x - 1)* = (x +2)* & ALESEHA (3x +a) (x + b) 7F Aok D
o m, a — b o] = F5HH?

® -1 @ 3 @0 @ 2 ©) I

B

2x—1=A, x+2 = BE X|3s}H
(2x-1)% - (x+2)?
=A%2-B>=(A+B)(A-B)
=(2x-1+x+2)(2x—1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=1+3=4




(3x-2)* = (2x+3)° = (Ax+ 1) (x+ B) & W, A+ B 9] & 73}
ot

> E

> Het A+B=0

B

3x—2=X, 2x+3=YZ 23IH
(3x—2)2 - (2x+3)2

=X2-Y? = (X+Y)(X-Y)

= (5x+1)(x-5)

. A=5 B=-5

s A+ B=0o]Jt}




5. Q15Bofet x4y =31 x—y=11 L 0Lk (x2 - dx + 4) -
(y* -2y + 1) 9 = Fstofet,

> E:
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(¥ —dx+4)- (> -2y +1)
=(x-2?%-(y-1)
={(>:-2)+-D}{>x-2)-(-1}
=(x+y-3)(x-y-1)

O|BE x4+y=231, x—y=11 5 JY5IH
(P —dx4+4) - (P -2+ 1)
=(31-3)(11-1) =0.1x10 = 1 ©]t}.
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the Ao A + B o] ghe FHA?

(3x-1)*-9(2x+3)?
= (Ax+38)(-3x-B)

D 14 @ 16 ® 17 @ 18

@

B

3x—1=a, 2x+3 =02t 5H

a®> - 9b* = (a+ 3b)(a — 3b)

= {(3x— 1)+ 3(2x + 3)H(3x — 1) — 3(2x + 3)}
= (9x + 8)(-3x — 10)

A=9 B=10

. A+B=19




8. (2a-3b+1)?>-(2a+3b-1)>=8a(Aa+Bb+C) LW, A+B-C
= Fskoizt

> E:

[> Hel: A+B-C=-4

2a-3b+1=X, 2a+3b-1=Y= 2s}H
(2a—3b+1)% - (2a + 3b —1)?
=X’-Y’=X+Y)(X-Y)

= 4a (-6b + 2)

=8a(-3b+1)

L A+B-C=0+(-3)-1=-4




9.

(x+y+2)? - (x—-y-2)*& A5-23lshA?

@© 2x(y+2) @ 4x(y-2) ® x(3y+2)
@4x(y +2) ® 4y(x+2)

B

x+y+2=A, x—y-2=Be ¥
A2—B?=(A+B)(A-B)
=(x+y+2+x-y-2)(x+y+2-x+y+2)
=2x(2y +4) = 4x(y + 2)




10. (2x-1)2-9 & 425l st a(x + b)(x + ¢) = YEFE T, be —a
o] 2 Ftolet,

> E:

> He: be—a= -6

B

(2x—-1)2-9 = (2x—1+3)(2x—1-3)
= (2x+2)(2x—4)
=4(x+1)(x-2)
=a(x+b)(x+c)

a=4,b=1,¢c=-2

Sobe—-a=-2-4=-6




11. (a+20)2-25¢2 = (aH | b+] )@t |- o) oA ]
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(a+ 2b)% — 25¢2
= (a+ 2b)% - (5¢)?
= (a+ 2b+ 5¢)(a+ 2b - 5c¢)




12.

@® 2(a+b+2) @ 4(a-b-2) ® 4da(b+1)
@ 4a(b+2) @4b(a+2)

B

(a+b+2)?-(-a+b-2)2
={(a+b+2)+(-a+b-2)}
{ta+b+2)-(-a+b-2)}
= 2b(2a + 4)

= 4b(a + 2)




13, the 3 -1 9] 947k obd AL

® x-1 ® x2-1 @ #-1

@)x° -1 ® #-1
@




14, X 4+4x2 +45 A5 (ax +b)? o]l It S, a+b 2] =
Tstodet. (& a > 0)

A +4=(x?)2+4(x?) +4= (x> +2)?
watA, a+b=1+2=3




15, x* - 10x* +9 9] A=7F opd 227

D x-1 @ x+3 ® x2-1
@x+9 ® x*-10x2+9

(x> -1)(x2=9) = (x + 1)(x = 1)(x + 3)(x = 3)




16. x%—5x2 +49] Ql5=7} opd AL

® x-1 @ x+2 @ x+1 @ x-2 @x—4




17. (a-b+3)%=(a+b+3)* S s g AL?

@© —4b(a-3) @ —4a(b+3) ® -8b(a+3)
@ —da(b-3) @) -1 (a+3)

B

(a-b+3)>%-(a+b+3)°
={(a-b+3)+(a+b+3)}
{(a-b+3)—(a+b+3)}
= (-2b) (2a +6)

= —4b (a+ 3)
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@ 2 ® 4 @)6 ® 8
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19.

o2 x* - 81yt & QAE5) gF Ao}, o] w D Qtof gure
ZtA4=2] & FotHA?

w81yt = (2 + [P+ -y
O 13 @ 15 ® 18 @ 20 ® 24

xt =81yt = (2® + 9%)(x* - 9?)
= (x* 4+ 9y?)(x + 3y)(x - 3y)
~9+3+3=15




20. THA] 4xt - 502 4+ 12 U] A9 QAA Y Fog Q14 EajHct |
Mo} Q4] of e

D 2x+1 @ 2x-1 @Gx

@ 6x+1 ® 4x-2

(4x?-1)(x?-1)=(2x+1)(2x—1)(x + 1)(x— 1)
(A ) =24+ 1420 -1+ x+14+x-1
= 6x




21. oA ¥t =322 +1°] (&% +ax+b)(x* +cx +d) = A2 2 o,
a+b+c+d gZ& F5HH?

@ 2 @1 ® 0 @ -1 @—2

B \
¥ =X= 2gstd
¥ -3x2+1=X2-3X+1
=X’-2X+1-X
=(X-1)2-X
= (x2-1)% - x?
=(x2-1-x)(x*-1+x)
= -x-1)(x*+x-1)°|BE=
a=-1,b=-1,c=1,d=-1°]A4%
a=1,b=-1,¢c=-1,d=-1
SLa+b+c+d=-2




22, x'-3x2 + 12 AFEAMSHA (22 + ax + b)(x? + cx + d) 7} Hr}. ©]
W, a+b+c+d° F= Fshofzt.

> &

> HE: a+b+c+d=-2

B *

-3 +1=x-2x2+1-x2
= (x?-1)2 - x?
=(x?-1+x)(x*-1-x)
=2 +x-1)(x2-x-1)
a=1,b=-1,c=-1,d=-1
sLa+b+c+d=-2




